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QUESTION 1

An administrator receives several alerts indicating a Nutanix cluster is running out of memory. As a preemptive
measure, the administrator wishes to try to reduce the consumed resources, if possible. 

Which two predefined views for Reporting best display potentially reclaimable resources? (Choose two.) 

A. List of Inactive VMs 

B. list of Bully VMs 

C. Memory Runway 

D. List of Overprovisioned VMs 

Correct Answer: BD 

 

QUESTION 2

Refer to the exhibit. 
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An administrator has configured Prism Central to email daily digests of alerts on a cluster. After a week, the
administrator notices that digests are not being received. 

What is the most likely cause of the issue? 

A. The recipient address is no" registered with Nutanix. 

B. Nutanix support is not enabled as a recipient. 

C. The tunnel connection has not been enabled. 

D. The SMTP server is not configured properly. 

Correct Answer: D 

 

QUESTION 3

An administrator has five VMs running on AHV. After creating a new VM and attaching a NIC to the Network Name as
shown in the exhibit, the new VM is not able to ping its gateway. The other five VMs are able to successfully
communicate with the gateway using the came Network Name. 

Which statement would explain why the new VM would not be able to ping its gateway? 

A. Each VM needs its own Network Name 

B. The IP address on the new VM is in the wrong subnet 

C. The Network Name s assigned the wrong VLAN ID 
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D. You can only have five VMs per Network Name 

Correct Answer: C 

 

QUESTION 4

How can an administrator access a Windows VM running on a Nutanix cluster if it is unreachable via ping? 

A. Connect using Xi Frame 

B. Open a Virtual Console through Prism Central 

C. Connect using RDP 

D. Open a Virtual Console through Prism Element 

Correct Answer: D 

 

QUESTION 5

Protection Domains enable administrators to replicate which two items for Disaster Recovery? (Choose two-) 

A. Volume Groups 

B. Virtual Machines 

C. File Shares 

D. Disk Images 

Correct Answer: AB 

 

QUESTION 6

Refer to the exhibit. 
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An administrator has created a new Windows VM and given it to the user. The user states that only the C drive mapping
is visible within the Windows OS. 

What is causing this issue? 

A. The user has not formatted and assigned drive letters to the additional disks. 

B. The additional disks have not been formatted as ExFAT in Prism Central. 

C. The administrator has not run the dd command line community utility. 

D. The additional disks were formatted as NTFS in Prism Central. 

Correct Answer: A 

 

QUESTION 7

An administrator needs to provide data integrity at the application level for a VM that is replicated to a secondary site.
Which requirement will satisfy this task? 

A. 1 VM per Consistency Group 

B. 1 VM per Availability Zone 

C. 1 VM per Protection Domain 

D. 1 VM per Schedule 
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Correct Answer: D 

 

QUESTION 8

Which Nutanix cluster component is responsible for triggering data movement events between SSD and HDD tiers? 

A. Genesis 

B. ILM 

C. Cassandra 

D. OpLog 

Correct Answer: B 

 

QUESTION 9

What Nutanix product provides multi-cloud cost and security governance? 

A. Era 

B. Leap 

C. Beam 

D. Flow 

Correct Answer: C 

 

QUESTION 10

An administrator has moved several workloads from a legacy vSphere virtual infrastructure to a modern Nutanix AHV
cluster. After performing this action the administrator realizes they are missing vCenter inventories that would be used to
classify the VMs by specific prefixes. 

What is the fastest way in Prism Central to group VMs with the specified criteria? 

A. Fitters 

B. Categories 

C. Projects 

D. Analysis 

Correct Answer: B 

 

QUESTION 11
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An administrator completed a successful AOS upgrade, but saw the following alert the following day: Detected
incompatible AHV version What is most likely causing this alert? 

A. The upgraded AOS version is incompatible with AHV. 

B. AHV was upgraded manually prior to AOS upgrade. 

C. AHV is not at the version that carte with the upgraded AOS. 

D. NCC version is not compatible with the current AHV version. 

Correct Answer: C 

 

QUESTION 12

An administrator needs to replace a node in a three-node cluster. The health status for the environment is good and the
cluster is able to support a single node failure. 

Which step must be performed first? 

A. Remove the failed node from the cluster 

B. Verify hypervisor versions 

C. Plug in all network cables 

D. Expand the cluster with the new node 

Correct Answer: D 

 

QUESTION 13

Refer to the exhibit. 
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An administrator needs to upgrade a VM to 10 virtual processors. Which action should the administrator take to
complete this task? 

A. Power-off the VM and add one vCPU 

B. Update the VM adding two vCPUs 

C. Update the VM adding two cores 

D. Power-off the VM and add one core 

Correct Answer: C 

 

QUESTION 14

An administrator has been asked to investigate performance issues for a business critical application. The application
runs on a single VM. What is easiest way for the administrator to begin troubleshooting this issue? 

A. On the Analysis page, create an entity chart with all metrics included 

B. On the Health page, look for Critical or Warning alerts for the VM. 

C. Review the metrics charts on the Prism Element Home page 

D. Review the VM Performance tab for the VM in Prism Element 

Correct Answer: A 

 

QUESTION 15
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Which two CVM components are used to provide data locality? (Choose two.) 

A. Logical Unit 

B. Unified Cache 

C. Extent Store 

D. Volume Group 

Correct Answer: BC 
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